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Poll Poll Poll Poll ---- 01010101

50 �� ����� ������ ������� ���� handshake ���� #���?

a) 50P2
b) 50×2
c) 50C2
d) 502
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Type – 01: ��*��+���*��+���*��+���*��+� +�-��7+�-��7+�-��7+�-��7 +@+@+@+@A�BA�BA�BA�B
Concept:

ExampleExampleExampleExample----01010101.... ��
��� :

��
���

=  
:  ��G�	G�	G�	G�	 nnnn H������7IJH������7IJH������7IJH������7IJ��������।।।।



Type – 01: : : : ��*��+���*��+���*��+���*��+� +�-��7+�-��7+�-��7+�-��7 +@A�+@A�+@A�+@A�BBBB
Example-02. ����

���� :
�� 

���� =  
: � G�	G�	G�	G�	n H������7IJ��H������7IJ��H������7IJ��H������7IJ��।।।।



��M/��M/��M/��M/ +@+@+@+@.N.N.N.N���� ����OOOO H�PH�PH�PH�P GGGG�	�	�	�	 ��������*�+*�+*�+*�+



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (A)
HP 1�P�#� ��9N ����8�	� ��6/+��1�P# ��M। ���� =+8�	� H�+��� ��	�
�� �����।
H�� +�T�8�	� �	��� �	��� ��� �/��� H�@ ����� ��9N #��I�N �/��� U��9� G��।

A. DIRECTOR ?Q�1�?Q�1�?Q�1�?Q�1�    +�8�	�+�8�	�+�8�	�+�8�	�    �7I�7I�7I�7I    ���J���J���J���J    
1. ������ +������ >�J?
2. H��� ��8�	��� V��7I8�	� H��W �����?
3. H��� ��8�	��� V��7I8�	� H��W ����� ��?
4. H��� ��8�	��� দইু� V��7I8�	� #�?�#��? ����� ��?
5. H��� ��8�	��� V��7I8�	� X�� #����I� ���� ��?
6. a. H��� ��8�	��� V��7I8�	� A� #����I� ���� ��?

b. ��8�	��� I +�I�� E H� ��6 �����?
c. ��8�	��� I, E H� ��6 H�@ E, O H� ��6 �����?

7. H��� ��8�	��� V��7I H�@ �N[���7I� ��#�\� ��X���� #����I� ���� ��?



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (A) (contd.)

>������ H��W ��.�� G�� ������� H��1
�7I �
B� ���� G��।

DIRECTOR?Q�1�?Q�1�?Q�1�?Q�1�    +�8�	�+�8�	�+�8�	�+�8�	�    �7I�7I�7I�7I    ���J���J���J���J    
1.������+������>�J������+������>�J������+������>�J������+������>�J????

Solve:Total �7I→
V��7I��M→

�N[��7I��M→

R��M→

+�8�	��7I���JDIRECTOR?Q�1��+�������]#�J=

2. H��� ��8�	��� V��7I8�	� H��W �����?  
Solve: 

V��7I   I, E, O (IEO, OEI, EIO.) ����� ��9N ��*2 G�� #����  
�N[��7I DRCTR

IEO   , D, R, C, T, R → 



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (A) (contd.)

+��� ��*�+:
>������ #�?�#��? ��.� >��� �� ����� ��*�+ #�� ���� G�� �� ������� ^�_�� X��� �+��� G��।

n �� �N�` H� +����� ����	 ����� ����� a bP #��? =��1 ^�_�� X�� =  n – 1 + 2 = n + 1 �1

3. H�����8�	���V��7I8�	�H��W�������?
Solve:=��1��*�+=

V��7I8�	���H��W���.��*�+=.

V��7I8�	���H��W�����.DIRECTOR?Q�1��
+�������]#�J=

4. H��� ��8�	��� b�1 V��7I8�	� H��W ����� ��?



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (A) (contd.)

7. H��� ��8�	��� V��7I H�@ �N[���7I� ��#�\� ��X���� #����I� ���� ��?
DIRECTOR H total �7I 8 �1
V��7I 3 �1 [ I, E, O ]

�N[��7I 5 �1
R 2 �1
SolveSolveSolveSolve:::: D I R E C T O R

� + � + � � + �
V��7I a �N�[N���7I� ��#�\� ��X���� #����I� �� g�1�J DIRECTOR

?Q�1�� +������� ]#�J

5. H��� ��8�	��� V��7I8�	� X�� #����I� ���� ��?
Solve: V��7I8�	�� X�� #����I� �� ���। D I R E C T O R



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (A) (contd.)

A�A�A�A� #����I�#����I�#����I�#����I� �������� GaJ�GaJ�GaJ�GaJ� +@A�B:+@A�B:+@A�B:+@A�B:

���8�	� �7I >�� H� ���-J ( �� H�P) GJ ��G�	 
�P�	a ����� A� #����I� ��� +h� GJ ��।

>���� A� #����I� ��� >��� �� ������� H� ���-J (�� H�P �7I) �
B� ���� G��, ���#� �����

��*�+ ���� G��, ��G�	 ��j ��*��+ ����� A� #����I� G�� ��।

 DIRECTOR?Q�1� +�8�	� �7I ���J 

(a) H�����8�	���V��7I8�	�A�#����I�������?

(b) ��8�	���I+�I��EH���6�����?

(c) ��8�	���I, �H���6H�@�, �H���6�����?



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (B)

BBBB.... DIRECTOR ?Q�1�� ������ +������ >�J?

1. =>� ���� +�I�� D ����।

2. =>� ���� +�I�� D �� ����।

3. =>� =?�l +�I�� R ����।

4. =>� =?�l +�I�� R �� ����।

5. =>� ���� +�I�� D ���� H�@ =?�l +�I�� R ����।

6. =>� ���� D ���� =?�l R ����।

7. =>� ���� D ���� ��m =?�l R �� ����।

8. =>� V��7I8�	� +�I�� =��n X��� ����।

9. =>� V��7I8�	� +�I�� �����n X��� ����।



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (B) (contd.) 

 DIRECTOR ?Q�1�� ������ +������ >�J-
01.=>� ���� +�I�� D ����।

02.=>� ���� +�I�� D �� ����?

03.=>� =?�l +�I�� R ����।



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (B) (contd.)

04. =>��?�l+�I��=>��?�l+�I��=>��?�l+�I��=>��?�l+�I��R ������������������������।।।।
Solve::::=��1��*�+=
=?�lR�X�=

=?�lR�X������.=

05. =>� ���� +�I�� D ���� H�@ =?�l +�I�� R ����।

06. =>� ���� D ���� =?�l R ����।।।।



Type – 02: ?Q?Q?Q?Q 6R�6R�6R�6R� +@A�B+@A�B+@A�B+@A�B (B) (contd.)

07.=>� ���� D ���� ��m =?�l R �� ����।

08.=>� V��7I8�	� +�I�� =��n X��� ����।

09.=>� V��7I8�	� +�I�� �����n X��� ����।



Poll - 02

07. DIRECTOR ?Q�1 =��� +�8�	 �7I ���J ������ +������ >�J
=>� ���� +�I�� R ���� H�@ =?�l +�I�� I ����।

a) 8!/2!
b) 6!
c) 7!/2!
d) 8P6



Type – 03: #/#/#/#/������I*�+��I*�+��I*�+��I*�+ +@A�+@A�+@A�+@A�BBBB
Problem:

DIRECTOR ?Q�1 =��� +�8�	� �7I ���J:

1. ������ #/�:��*�+ ��� >�J?

2. ������ #/�:��*�+ ��� >�J =>� I ���� ����?

3. ������ #/�:��*�+ ��� >�J =>� R =?�l

����?

Solution:

1. DIRECTOR ?Q�1�+�8�	��7I���J��*�+ = 8!/2!
DIRECTOR?Q�1����������9N���H��1��*�+।
��P, #/�:��*�++@.N� =

2. I =��������.��*�++@.N�=
DIRECTOR ?Q�1����9N����H��1��*�+�J।
��P, #/�:��*�++@.N� =

3. R=��?�l���.��*�++@.N�=
DIRECTOR ?Q�1����������9N���H��1��*�+।
��P, #/�:��*�++@.N�= 

#/�:��*�+#/�:��*�+#/�:��*�+#/�:��*�+ ����	P����	P����	P����	P 1 ���J�6���J�6���J�6���J�6 GJGJGJGJ ��������।।।।



Type – 04: ���?l���?l���?l���?l �O�O�O�O +�I��+�I��+�I��+�I�� �B�/Ì�B�/Ì�B�/Ì�B�/Ì �������������������� �������� �������������������� �������� +@A�B+@A�B+@A�B+@A�B

10 �1 �O� H����� 5 �1 ���J ��8�	� ��*��+� ��9N 2 �1 ���?l vO +�I�� �B�,Ì �����।



Type 5: 
A
A
A
A ��*�+��*�+��*�+��*�+ (Cyclic Permutation)



Type 5: 
A
A
A
A ��*�+��*�+��*�+��*�+ (Cyclic Permutation)

02. 12 ����w 9��7� �/̀ � ���J �� ���� �/̀ �� G�� x��� ��� >���? [BUET’12-13]
Soln:

01. 5 �� ��@	���?- a 7 �� ����-J =6�	����� ��+ H��1 x�R� ���� 
�J। x�R��1 ������
���� #��� =>� ��@	���?-�� #�?�#��? �� ��+?



Type 6: #/����|�}#/����|�}#/����|�}#/����|�}�,�,�,�,				���� ��������*�+*�+*�+*�+
Problem:Problem:Problem:Problem: 4 4 4 4 �1�1�1�1 =#������=#������=#������=#������ 5 5 5 5 �1�1�1�1 �
�R�
�R�
�R�
�R �������� ]#��J]#��J]#��J]#��J =^	�=^	�=^	�=^	� >�>�>�>�JJJJ????

n +@.N� ��w ��w �O G�� ������� r +@.N� �O ���J >�� ��*�+ ��� GJ =>.���
H��1 �O�� =>���� +@.N� ��� �N�G�� ��� >��� ��G�	, =��1 ��*�+ +@.N� = nr

nr+G�� ��� ��.�� �*: �যখােন, n = => �O H���9� ����+ �G7 ���� #���
r = => �O H���9� X��� =>�� #���।



Type 6: #/����|�}#/����|�}#/����|�}#/����|�}�,�,�,�,				���� ��������*�+*�+*�+*�+
Example-01. ���� ��� ����G ������ 13 �1 �@�1 ]#G�� =#�J�M। 10 �1 ��/�	 �@�18�	� ������

#��� #���?  [9�� ��a, ���� H�P ��/�	 ����8�	� (H���� 13 �1!) �@�1 #n�� #���। ��a 9��
��a, H��1 ��/�	 H���9� �@�1 #����� G�	 =+8�	� �- A�� #����� G��, �� ����
N �J। ]

Example-2. =��� ���N�	�J ���lI� A-n� ����>�6-��J ����1 #/���� H��1 +��
���7� �*, H��1 +�9��7
]w��� �*, H��1 A-n�� �* ��9I��7 ��� G�J�M। 10 �� ��	��� ��9N #/����8�	� ������ ����7
��� >�J?



Poll - 03

Grameenphone H� H��1 ��� �� GJ 017 �� 013 ���J। ��G�	 Grameenphone =��1 ��8�	�
+@�>�6 ���� #����?

a) 10P8

b) 108

c) 10C8

d) 2×108



Type Type Type Type – 7777: : : : +@.N�+@.N�+@.N�+@.N� 6R�6R�6R�6R� +@A�+@A�+@A�+@A�BBBB
1.   0, 1, 2, 3, 4, 5, 6, 7, 8, 9�@�8�	� �������i.H���� ��W �N�G�� ��� ii. => =��� +@.N� ��� �N�G�� 
���-

?�I/�� i. H���� ��W �N�G�� ��� ii. => =��� +@.N� ��� �N�G�� ���
(a) 
4 �@� ���?� ��8�	� +@.N� 6R� 
��� >���?

(b)
4 �@� ���?� ��8�	� �����n 
+@.N� 6R� ��� >���?

(c)
4 �@� ���?� ��8�	� =��n +@.N� 
6R� ��� >���?



Type Type Type Type – 7777: : : : +@.N�+@.N�+@.N�+@.N� 6R�6R�6R�6R� +@A�+@A�+@A�+@A�BBBB
1.   0, 1, 2, 3, 4, 5, 6, 7, 8, 9�@�8�	� �������i.H���� ��W �N�G�� ��� ii. => =��� +@.N� ��� �N�G�� 
���-

?�I/�� i. H���� ��W �N�G�� ��� ii. => =��� +@.N� ��� �N�G�� ���

(d) 4 �@� ���?� ��m 5 ���� �����N 

��8�	� +@.N� 6R� ��� >���?

(e) 4000 H� =
�J �n ��m 7000 H� 

=
�J =M�1 ��8�	� +@.N� 6R� ��� >���?

(f) 4000 H� =
�J �n ��m 70,000 H� 

=
�J =M�1 ��8�	� +@.N� 6R� ��� >���?



+�����?�+�����?�+�����?�+�����?� 9��7�9��7�9��7�9��7� (contd.)

01. 40 �������� �N�`�N�`�N�`�N�` G��G��G��G�� 15 ���������������� H��1H��1H��1H��1 �	�	�	�	 ������������������������ 6R�6R�6R�6R� ������������ >�J>�J>�J>�J?  Ans:

Case-1: ��?� >�� ��	 ����: 

Case-2: ��?� >�� ��	 �� ����:



Type 8: ����				 �������� �������������1�1�1�1 6666R�R�R�R� +@+@+@+@A�BA�BA�BA�B

Example-01. 4 �� ����G	�+G 10 �N�`� ��9N =��� 5 ���� H��1 ����1 �� ����� 6R� ��� =>��
#��� >��� �B:�#�\ H��� ����G	� �����? [KUET’03-04, DU’13-14]



Type – 9: ��M/��M/��M/��M/ ����+������+������+������+�� �G��G��G��G� �������� ��I��I��I��I���� +@A�B+@A�B+@A�B+@A�B
Example-50. bP�� ��	��� (i) +�I�� �G7 ��� (ii) +�I�� ��I� ��� 12 �� ��	� G�� 5 �� ��	��� 

������ ��M�P ��� >�J? 

����:

(i) ���7IJ ��M�P +@.N� 

(ii) ���7IJ ��M�P +@.N� 



Type – 10: : : : H�H�H�H� �������� H���9�H���9�H���9�H���9� �O��O��O��O� ��M�P��M�P��M�P��M�P +@A�+@A�+@A�+@A�BBBB (contd.)
V ��� ��, ��/	, ���/	 a ���/	 ���� ����� ��/ ��M HP ��� �� ��/ =��� H� �� H���9� ��/��

������ ��aJ�� ���� #����।

A B C =� ��aJ�� =�J�� ]#�J



Type – 10: : : : H�H�H�H� �������� H���9�H���9�H���9�H���9� �O��O��O��O� ��M�P��M�P��M�P��M�P +@A�B+@A�B+@A�B+@A�B (contd.)

01. H��� �N�`� 7 �� ��/ ��M। =+ ��� ������ H� �� H���9� ��/�� ������ ��aJ�� ���� #����?

02. ����+G 8 �1 �� G�� H� �� H���9� �� �� ���� ��M�P ��� >�J?



Type – 11: H�H�H�H� �������� H���9�H���9�H���9�H���9� �O��O��O��O� ��M�P��M�P��M�P��M�P +@A�+@A�+@A�+@A�BBBB (contd.)



�������� G��G��G��G�� H�H�H�H� �������� H���9�H���9�H���9�H���9� ^	^	^	^	 ������������������������ ��M�P��M�P��M�P��M�P ������������ >�J>�J>�J>�J।।।। bP�1bP�1bP�1bP�1 g1��g1��g1��g1�� g1��g1��g1��g1�� #���#���#���#���।।।।
(i) H�P ������: 
(ii) ��w ������:



Type – 11: H�H�H�H� �������� H���9�H���9�H���9�H���9� �O��O��O��O� ��M�P��M�P��M�P��M�P +@+@+@+@A�BA�BA�BA�B
Example-01. 1500 H� =��1 ]�#��� +@.N� a ��|� ]�#��� +@.N� ��7IJ ��।



Type – 12: =M����=M����=M����=M����, , , , +�	��.�+�	��.�+�	��.�+�	��.�, , , , �W�/��W�/��W�/��W�/�, , , , 
�/�/I
�/�/I
�/�/I
�/�/I����, , , , �|}�|}�|}�|} +@A�B+@A�B+@A�B+@A�B********./�P./�P./�P./�P 8��#,7I8��#,7I8��#,7I8��#,7I********Concept::::

01. H��1 +���	 20�1 +�	��.� ��M। =��� 2�1 +�	��.� +��B��	 �J, ��� =��� ����1 +�	�.��
H�P ����� =M� ��� ��। ��8�	� =M� ��� =�� ��� +h�?
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a) 20C3
b) 20C3 – 7C3
c) 20C3 + 7C3 - 1
d) 20C3 – 7C3 +1
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Example-01. ENGINEERING ?Q�1 G�� ������� 4 �1 ��� �7I ���J =��1 +����? a ��*�+ +@.N� �� G��?

উপায় (ways) উদাহরন (Examples) সমােবশ সংখ�া (Number of 
Combinations)

িবন�াস সংখ�া (Number of 
Permutations)
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